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1. Find the general solution of Yy —(3/X)y +(4/x*)y=0 for x>0, given that one

solution is Y, (x) = x*.

2. Solve the initial value problem using Laplace transform.

y +y=t; y(0)=1 y(0)=0

3. One corner of a rectangular parallelepiped is at (-1, 2, 2) and three incident sides
extend from this point to (0, 1, 1), (-4, 6, 8), and (-3, -2, 4). Please find the volume
of this parallelepiped.

4. Solve the system as the following
X, —3X, + X, — 71X, +4%, =0
X, +2X,—=3%, =0
X, —4X; + %X =0

5. Solve the system as the following

X, =2X —2X,+3%, ; Xx(0)=1
X,= X+ X+ X 5 %(0)=0
X, = X +3%— X ; X(0)=1/2




